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DEO MAIN - 2023 
 

COMPOUND INTEREST ASSIGNMENT 
 

1. Find the compound interest on ₹ 20,000 at 15% per annum for 2 
1

3
 years. 

₹ 20,000 f;F 15% Mz;L tl;b tPjj;jpw;F 
1

2
3

 Mz;LfSf;Ff; $l;L tl;biaf; 

fhz;f.  
 

2. The simple interest on a certain principal for 3 years at 10% p.a is ₹ 300. Find the 
compound interest accrued in 3 years. 

Xh; mrYf;F 10% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilf;Fk; jdptl;b ₹  300 
vdpy;> mjw;Ff; fpilf;Fk; $l;Ltl;biaf; fhz;f.  

    

3. Find the C.I. on ₹  15,625 at 8% p.a. for 3 years compounded annually. 

₹ 15,625 f;F Mz;L tl;b 8% vdpy;> 3 Mz;LfSf;Ff; $l;L tl;b fhzTk;.  
  

4. Find the rate of interest if the difference between C.I and S.I on ₹8000 compounded 

annually for 2 years is ₹20.   

₹ 8000 f;F> 2 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk;    ,ilNaAs;s 

tpj;jpahrk; ₹ 20 vdpy;> tl;b tPjj;ijf; fhz;f.  

 

5. The value of a machine depreciates by 5% each year. A man pays ₹ 30,000 for the 
machine. Find its value after three years. 
xU ,ae;jpuj;jpd; kjpg;G xt;nthU Mz;Lk; 5% FiwfpwJ. xUth; ,ij xU 

thq;Ftjw;F ₹. 30>000 nfhLj;jhh;. %d;W Mz;LfSf;Fg; gpwF ,jd; kjpg;G vd;d? 
 

6. In what time will Rs.5,400 amount to Rs.6,773.76 at 12% per annum compound 
interest? 
vt;tsT fhyj;jpy; &.5>400, Mz;Lf;F 12% $l;L tl;bapy; &.6>773.76 Mf khWk;? 

  

7. The compound interest on ₹ 40000 at 6% per annum for 6 months, compounded 
quarterly, is 
fhyhz;Lf;F xU Kiw tl;b fzf;fpLk; Kiwapy; 6 khjq;fSf;F Mz;Lf;F 6% 
tPjk; &.40>000 kPjhd $l;L tl;b fhz;f.  
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8. Calculate the amount and the compound interest on Rs5000 in 2 years when the rate 
for interest for successive years  is 6% and 8% respectively. 
mLj;jLj;j Mz;LfSf;fhd tl;b tPjk; KiwNa 6% kw;Wk; 8% Mf ,Uf;Fk; NghJ 
2 Mz;Lfspy; &.5000 f;fhd nkhj;j njhifiaAk; $l;L tl;biaAk; fhz;f. 
 

9. Vicky borrowed ` 26,400 from a bank to buy a scooter at the rate of 15% p.a. 
compounded yearly. What amount will he pay at the end of 2 years and 4 months to 
clear the loan? 
tpf;fp xU ];$l;liu thq;f xU tq;fpapy; &.26>400 If; fldhfg; ngw;whh;. Mz;L 
tl;b 15% tPjk;> Mz;nlhd;Wf;F tl;biar; Nrh;j;jhy; 2 Mz;Lfs; 4 khjq;fs;  Md 
gpd; jd; flid milf;f mth; vt;tsT nrYj;j Ntz;Lk;? 

 
10.  Find the compound interest on Rs. 1000 at the rate of 8% per annum for 1 ½ years 

when interest is compounded half yearly. 
tl;b miuahz;Lf;F $l;lg;gLk; NghJ 1000 &gha; kPjhd $l;L tl;bia Mz;Lf;F 
8% vd;w tPjk;  1½ Mz;LfSf;F fz;lwpaTk;.  

 
11. A sum amounts to Rs. 756.25 at 10% per annum in 2 years, compounded annually. 

Find the sum. 

Mz;Lf;F xU Kiw tl;b $l;lg;gLk; Kiwapy; xU njhifahdJ Mz;Lf;F 10 % 
tPjk; 2 Mz;Lfspy; &.756.25 MfpwJ vdpy; me;j njhifia fhz;f. 

 
12. Three years ago, the population of a town was 50000. If the annual increase during 

three successive years be at the rate of 4%, 5% and 3%, respectively, find the present 
population. 
%d;W Mz;LfSf;F Kd;G xU efuj;jpd; kf;fs; njhif 50000. njhlh;e;J %d;W 
Mz;Lfspy; mjpfhpg;G KiwNa 4%> 5% kw;Wk; 3% vd ,Ue;jhy;> jw;Nghija 
kf;fs; njhifiaf; fz;lwpaTk;.  

 
13. The difference between compound interest and simple interest for 3 years 

at 20%p.a. is 152. What is the principal lent?  
20% Mz;L tl;b tPjk; 3 Mz;LfSf;F $l;L tl;bf;Fk; jdp tl;bf;Fk; cs;s 
tpj;jpahrk; &.152 vdpy; mry; njhifia fhz;f? 

 
14. At what rate percent per annum will a sum of Rs. 4000 yield compound interest of 

Rs. 410 in 2 years? 
&. 4000> 2 Mz;Lfspy; &. 410 $l;L tl;b mspj;jhy; Mz;L tl;b tPjk; vd;d? 

 

15. Simple interest on a sum of money for 2 years at 4% is ₹450. Find compound interest 
of the same sum and at the same rate for 2 years. 
4% tl;b tPjj;jpy; 2 Mz;LfSf;F xU njhiff;fhd jdp tl;b &.450. 2 
Mz;LfSf;F mNj njhif kw;Wk; mNj tl;btPjj;jpy; $l;L tl;biaf; fz;lwpaTk;.  


